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(10) FRE 21 £E BRIN(EARAB) KERERE
B B | rEaE o = = 5
" A 5H14E TH13E SAZ9H TTAZE TAT4E 3HeE | £l TREE wom [ 8~ sx [ JER
PH 7.2 74 75 74 75 7.6 65~85 0% 74 [C 72 ~ 16 ) 14

4+ [ BOD 1.8 16 0.9 1.0 1.2 1.3 2 0% 13 |C 09 ~ 18 ) 13
Ss 3.6 6.4 18 438 <1.0 40 25 0% 61 |C <10 ~ 18 ) 63

= | DO 11 9.3 95 11 12 11 75 0% 11 (93 ~ 12 ) 11
PNCEEE 1700 24000 2200 17000 170 2400 1000 83% 7900 |( 170  ~ 24000 )| 7900

B | A UREYE ( ~ )
Jx/—)L¥E ( ~ )

i [ 8 ( ~ )

Fh ( ~ )

15 | AR ( ~ )
BRI AY ( ~ )

g [ 484 ( ~ )

( ~ )
EIEPIN <0.0005 <0.0005 0.003 0% <0.0003 |( <0.,0003 ~ <0.0003 )] <0.0003
STV <0.1 <0.1 T 0% <00 JC <01~ <01 )| <01
A - ( ~ )

D <0.001 <0.001 0.01 0% <0.001 )C <0001 ~ <0.001 )| <0.001
=N <0.005 <0.005 0.05 0% <002 J( <002 ~ <002 )| <0.02
[ <0.001 <0.001 0.01 0% <0.001 |( <0.001 ~ <0001 )| <0.001
IKER <0.0005 <0.0005 0.0005 0% <0.0005 [( <0.0005 ~ <0.0005 )] <0.0005

= | 7ILXILKER <0.0005 <0.0005 T 0% <0.0005 |( <0.,0005 ~ <0.0005 )] <0.0005
PCB <0.0005 <0.0005 TR 0% <0.0005 |( <0.0005 ~ <0.0005 )] <0.0005
M)9ORIFLY <0.0005 <0.0005 0.03 0% <0.0005 |( <0.0005 ~ <0.0005 )] <0.0005
TF59001FLY <0.0005 <0.0005 0.01 0% <0.0005 |( <0.0005 ~ <0.0005 )] <0.0005

LR IPZIEEEE D <0.001 <0.001 0.02 0% <0.001 )C <0001 ~ <0001 )| <0.001
mig{ERE <0.0002 <0.0002 0.002 0% <0.0002 J( <0.0002 ~ <0.0002 )| <0.0002
1, 2—Y5AA1%Y <0.0004 <0.0004 0.004 0% <0.0004 |( <0.0004 ~ <0.0004 )| <0.0004
1, 1—Y900IFLY <0.001 <0.001 0.1 0% <0.001 )( <0001 ~ <0001 )| <0.001

= | YA—1, 2—Y9AAIFLY <0.001 <0.001 0.04 0% <0.001 J( <0.001 ~ <0001 )| <0.001
1, 1, 1—M)yAAIEY <0.001 <0.001 1 0% <0.001 )( <0001 ~ <0001 )| <0.001
1, 1, 2—M)pAATSY <0.0006 <0.0006 0.006 0% <0.0006 |( <0.,0006 ~ <0.0006 )] <0.0006
1, 3—Y79007° ANy <0.0002 <0.0002 0.002 0% <0.0002 |( <0.0002 ~ <0.0002 )] <0.0002
FI5L <0.0006 <0.0006 0.006 0% <0.0006 |( <0.,0006 ~ <0.0006 )] <0.0006
P <0.0003 <0.0003 0.003 0% <0.0003 |( <0.,0003 ~ <0.0003 )] <0.0003
FAR AT <0.001 <0.001 0.02 0% <0.001 J( <0.001 ~ <0001 )| <0.001
Y <0.001 <0.001 0.01 0% <0.001 )( <0001 ~ <0001 )| <0.001
LY <0.001 <0.001 0.01 0% <0.001 J( <0.001 ~ <0001 )| <0.001
RV ERERBITESR 0.7 0.7 10 0% 070 | 07 ~ 07 ) 070
S <0.08 <0.08 0.8 0% <008 J( <008 ~ <008 )| <0.08
[EES 0.06 0.09 1 0% 008 I 006 ~ 009 )| 008
1,4-Y' 139y <0.005 <0.005 0.05 0% <0.005 | <0.005 <0.005 )| <0.005
EXE 1.4 1.3 0.91 1.1 1.7 1.3 1.3 |C 091 ~ 17 ) 1.3
£ 0.07 0.02 0.04 0.05 0.04 0.06 005 |C 002 ~ 007 )| 005
B4 HmEHER <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <005 J( <005 ~ <005 )| <0.05




